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1.4 cells of 1.5 V are connected in parallel, their
output voltage will be ___.1.5 V & 4 3¢ HR BH
# 33 81d 8, 37! fArfa (output) aleear ___ghfh
(A)1.5V

(B) 3V

(©) 0375V

(D) &% & BI TEF

Ans: (A)

2. The capacity of storage battery is expressed as

the ____. oI dedt & amdr fAafeilad # &b &t
STt 8

(A) Number of recharges it can take fdadl IR &
st fasar s adar &

(B) Time for which it can be used I3 579 faie
TG YA fasdT 51T AbdT 2

(C) Number of cells it contains/sdH fdsdd 4T &

(D) Number of ampere hours it can deliver gedt
P wfieR-tier Y faed & st &

Ans : (D)

3. Two batteries having unequal emf 3HH

emf dTcil & defRal BI__.
(A) Can be connected in parallel GHicR ® TPTRIT 51T
Hhdl
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(B) Cannot be connected in series 20t & 981 e
ST HbdT

(C) Can be connected in series only ddaet Auft & €

TN 7T qbal &

(D) May be connected in parallel or series IHIAR AT
oit 1T § I 51T BT & |

Ans: (C)

4. Five cells, each with an e.m.f of 2V and internal
resistance of 0.5 Q are connected in series. The
resulting battery will have: UTd ¥d, 578 Tl &1
e.m.f 2V & 3R 3ATaRe Ufae 0.5 Q BT gl A 5iigT
AT 8

(A) An e.m.f. of 2V and an internal resistance of 0.5
Q| 2V ®T em.f. 3iR 0.5 Q BT 3TdRe U

(B) An e.m.f. of 10V and an internal resistance of 2.5
Q | 10V &I e.m.f. 3R 2.5 Q BT 3ATaRe Tfad

(C) em.f. of 2V and an internal resistance of 0.1 Q |
2V &I em.f. 31R 0.1 Q BT 3ATdRS ufay

(D) An e.m.f. of 10V and an internal resistance of 0.1
Q| 10v BT e.m.f. 31R 0.1 Q BT 3’TARP AfaH |

Ans : (B)

5. The total voltage across the battery formed by
connecting four cells of 2V and 4Ah in parallel order
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will be: 2V 3fR 4Ah & IR Tl Bl HIAR BH | 5]
TS 7S St B Pt dteest fdsaam Enm:

(A) 0.5V

(B) 3V

(C) 2V

(D) 4v

ANS:- (C)

6. If 6 cells are connected in parallel to 12V, the
output voltage will be: afE 6 AeT 12V & FAMIR A 3
gU &, A 3M3¢YC dieesT anm:

(A) 6V

(B) 72V

(C)2v

(D) 12V

ANS:-(D)

7.12 resistors are connected in parallel across three
identical 2V cells. What is the current passing
through the resistor? T H&UT 2V Jail & 3IR-UR 12
Ufaierd FHIAR SIST IR 8| Ufaieid A 81 5TH deit
YRT fbat 82

(A) 4 mA

(B)3.5 mA

(©)45mA

(D)6 mA

ANS:- (D)

8. The positive electrode of a dry cell is made up of
_____ . [ Al BT YATHD SATTIS ........ BT G BIdT 2
(A) copper didT

9. A dry cell consists of a cylindrical (zinc pot) zinc

pot which acts as ____. T 3T A1 § SHT6R (5
gic ) 5% BT dd &IdT € 311 T ...... b BY BRI BaT gl
(A) Diode SIS

(B) Anode TS

(C) Transistor gifsi&eR

(D) cathode &1

ANS:- (D)

10.Which of the following is a dry cell? fgfeifda #
QP AT TP 318 A 87

(A) silver oxide cell f8eR 3ffaTSs dcT

(B) Lithium cell faifeg et

(C) zinc chloride cell 57 FRTEE A

(D) zinc carbon cell f5& BT AT

Answer- (D)

1. In what form is energy stored in a lead-acid
battery? @is-Cfds dedt # %31f foog wu & Iufed eidt 8?
(A) charged ions 3afRid 3

(B) chemical energy IR H31f

(C) electrostatic energy RR-fag[d Hsif

(D) electromagnetic energy fag[d-gadhia Hsif
(E) Magnetic energy Jeidb i 31t
ANS:- (B)

12. Lead acid battery is a ............ device. i3 EfGs

(A) electro-mechanics fag[d-Tifadt
(B) electrochemical fdg[d @A
(C) Electrical saifdgder

(B) Carbon &I (D) Chemical IRIfA®
(C) Zinc 5 (E) Mechanical Tifi®
(D) Sulfuric Acid eI Tfds ANS:- (B)
(E) Iron olI&l
ANS:- (B)
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13. The number of negative plates per cell in a lead
acid battery is equal to .......... fooet THT 377eT et H
gfd de1 Pifea wid) &t I ......... B SRIER B 21

(A) positive planto +1 Tif3iféd wiel +1

(B) positive plates +2 Tifsiféa wiel +2

(C) positive plates difsifed wel

(D) positive plates +3 Uifsifed wici +3

ANS:- (A)

14. What is the nominal voltage of a dry cell? Th
}[Sh A BT ATHATS aleest fpaHT grdT 872

(A) 1.5V (B) 1.8V (C) 2.0V (D) 2.5V (E) 3V

ANS:- (A)

15. What is connected to the negative terminal of
the metal? HTq & SEUTIcH® <fAel & a1 ST1ST STTdT 872
(A) Anode CAlE

(B) cathode &2i1

(C) Collector dataeR

(D) Gate 7@

(E) Both (Anode) and (cathode) | (Anode) 3{R
(cathode) GHI

ANS:- (B)

16. What is a positive electrode called? YdTcHEH
fag[amy (sAa%IS ) BY T BT STdT 2?

(A) Anode T3

(B) Triode gIIS

(C) cathode &5

(D) diode S/IIS

ANS:- (A)

17. A liquid which carries an electric current due to

(B) ions 31T

(C) atoms WRATUP3T

(D) valence electrons I35l SeiagiA] |
ANS:- (B)

18. In an electrolyte, electric current flows through
____. TP sadgiase H fagd UaTg ...... B AEIA @
yarfgd giar |

(A) electron SAdE

(B) Atomic YHTI]

(C) positive and negative ions AT 3R FUTHB
A4

(D) Molecules

(E) nucleus 317]

(E) nucleus ATfH®

ANS:- (C)

19) A cell that can be recharged by sending electric
current in the reverse direction to that of a
discharge mode is known as ... T 91 51 fs@st
Hig bt fausta T2 # faegd ware Wsiax st fasar s
BT E, 34 ...... S BY H 5TET 1T 2|

(A) primary cell WTfAd det

(B) secondary cell. ATeAR® e

(©) laid acid cell .Cf4s A1 Wt

(D) none of the above 30 A q BIE T&F

Ans: (B)

20) The secondary cell is also called a.......since after

it is charged it store the energy until it is used up or

discharged st A B ... M BT STTdT € difds =15
B & 91 IE 331t B! dd ddb R HIdl & 519 db b

the flow of .......... is called an electrolyte. T dicl

yaIfed &l g, 39 faga-31veed (sAdagiarse) &l Siral
2l
(A) free electrons Htb ScidgiAl

ST 39N A1 f3Enst 481 81 sirar

(A) dry cell J[sb T

(B) storage cell H3ROT et

(C) voltac celldieed et

(D) none of the above 3w A q BIs T8l
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Ans: (B)

21) In a secondary cell the charging and discharging
processes are taking place according to ... Th
HEGE]

(A) Faradays Laws of Electrolysis sl ifeifGd &
RIS BT

(B) Faradays Laws of Electro Magnetic 2 Induction
SRR BT 2 9R0T 3 AT BT

(C) Both gHf

(D) None of the above 30l H d BIg T&t

Ans: (A)

______ is a solution or paste capable of
conducting are electric current because of its
dissociation into positive and negative ions. __T&h
GHTET T IR & 571 BRIHD 3R TBRIHD AT A
GRIRRUT b BRUT fae[d YaTe BT HTe B § F&H 2|
(A) Distillwater 31 d 5Tef

(B) Electrolysis Setagifeitad

(C) Electrolyte3aidgiaiTae

(D) None of the above3WRIh | § b1 T&T

Ans:(C)

23) The conductor or terminal, usually metallic,
through which an electric current enters or leaves is
called ..... hedeR AT efidd, 3THAR R tifce, Fiad
HTEH & TP fag[d UaTe Wl &3l & a1 fAdbdar e ....
(A) electrode\ seiaRIS
(B) +ve
(C) -ve
(D) none of the above \3WRI®H # q BIg TeT
Ans: (A)

¢t PY 3ifei THY ddb 3uAT A fharmar 8, dr 3@
HTARIA (charge) B3 &1 T 3UYH fafel BT 82
(A) 31¢T HTATT 3ma2[ (Trickle charge)

(B) 31fHaEfq 31ma2M (Boost charge)

(C) Tae 3TdRA (Freshening charge)

(D) wIdH 3TdRM (Float charge)

ANS:- (A)

25. How does trickle charging of a storage battery
help? TR At & feper anf>1 & St TerIdr edt 22
(A) maintaining proper electrolyte 3fdd saldgIciTse
SATC W A

(B)to increase its reversibility S9d! 3GhH &HdT g6
"

(C) to prevent sulfation bR A |

(D) to keep it fresh and fully charged §& dT31T 3iR
qufa: ansf gATe Y A

(E) to discharge f3@msf & &

ANS:- (D)

26. Miniature battery is commonly used in
AR et &1 sEawTe drervid: faaw

(A) Electric clock 3aifded =gt

(B) Airplane &dTs ST&T5

(C) Laptop aiueia

(D) Automobiles 3iTEHIaTSA

(E) Radio 334t

ANS:- (A)

27. What is the approximate EMF of a Leclanche
cell? AT A BT EMF TP fdbaaT glar 82

(A) 1V (B) 1.5V (C)2V (D) 2.5V (E) 3V

ANS:- (B)

28. The name of solar cell is also called ............. GleR
24.What is the most appropriate method to charge | 3¢ &I AM ... W grar 81
a battery if it is not used for a long time? If¢ f&dt | (A) Photovoltaic cell BicidieeTsd At
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(B) Phototransistor ®Ieigifsieex

(C) laser diode AR 3RS

(D) LCD

(E) Photochemical cell BIeIbHdbea 9a
ANS:- (A)

29. Typical Voltage Range of Solar Cells__ IR 3¢ &1
ufdsut dieed! RN _

(A) 0.3V

(B)0o.5V

(©) 0.7V

(D) 1.0 V

Ans :(B)

30. Two resistors of 50 K are connected in series
and powered by a 12V battery. What will be the
current flowing through the circuit? 50 & & Ufares
YT § 33 §U € 3R U 12V 9l gRT HaTfeid T 5
@ 2| gfthe & AT I I8 aTelt URT T 8it?

(A) 12A

(B) 1A

(C) 2A

(D) 2.4A

ANS:- (A)
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31. If 6 cells of 1.5V each are connected in series but
one cell is connected in opposite direction, then
the total voltage will be ___. afd 1.5V 6 AcT el
# 33 gC 8, Aifds vop A faudta fem A s[eT83m 8, at
U et AT __ 81

(A) 6.0V

(B) 7.5V

(C) 9.0V

(D) 12.0V

ANS:- (A)

32. Find the current in a 10 ohm resistance circuit
that is connected in series with a 20 volt battery?

TS 10 3 UfaRId a1t URu2 # fag]d YRT 6T udl oY
5% 20 alee dedt & a1y Yuit BF | GAif5a fasar mar
a7

(A) 0.5 Amp

(B)1 Amp

(€)1.5 Amp

(D) 2 Amp

ANS:- (D)
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